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PART |
SENTENCE TRANSFORMATION

'

PATTERN 1

L TRANSFORMATION PATTERNS

1. S + be + too + adj + to inf.

< S + be + 5o + adj + that + s + can’t + V
My sister is too young to get married
My sister is so young that she can’t get married.

. S+V+as+S+V ©S+V+dueto + noun phrase

The office was closed as the doctor was ill.
The office was closed due to the doctor’s illness.

- S+ be + so +adj + that + S + can’t + V

& S + prevent + S.0./sth + from +doing Sth
The sea was so rough that the ferry couldn’t sail.
The rough sea prevented the ferry from sailing.

. S+ will +V + soon < It + is not + long + before + S + V (present)

Our country will develop soon
It is not long before our country develops.

. S + have + Never + V3 & It’s + the first time + S + have + V3

I’ve never tasted pheasant before. . 3
This is the first time I have tasted pheasa.nt { e

II. PRACTICE
Choose the best sentence that has the same meaning as the given one.
_ 4. The day was too hazy for us to take any pictures.

YA. The day was so hazy that we couldn’t take any pictures.
B. It was too hazy a day that we couldn’t take any pictures.
C. We couldn’t take any pictures because a hazy day.

D. We can’t take any pictures because of a hazy day.



2. The soldier couldn’t walk as his leg was wounded.
V/A. My brother couldn’t walk due to his wounded leg.
B. My brother couldn’t walk because his wounded leg.
C. My brother could walk because his leg wasn’t wounded.
D. My brother could walk if his leg isn’t wounded.
3. The street was so crowded that we couldn’t reach the station on time.
A. The crowded street prevented us to reach the station on time.

\/B. The crowded street prevented us from reaching the station on time.
C.We couldn’t reach the station on time because the crowed strees.
D.We could reach the station on time unless the stre&wasn’t crowded.

4. The bus will be full up soon.
A. The bus will be early full up.
B. The bus is full of people.

V/C. It is not long before the bus is full up.

D. It is long before the bus is empty.

5. She hasn’t seen that boy here before.
A. That boy hasn’t been saw here before.
B. It’s the first time she sees that boy here.
C. She has seen not that boy here before.

\/D.It’s the first time she has been that boy here.

PATTERN 2

I. TRANSFORMATION PATTERNS
1. S + be + too + adj + to infinitive
< S + be + not + adj + enough + to inf

She is too weak to carry this bag.
She isn’t strong enough to carry this bag.

2. S+ present verb (negative) + any more <> S + used to + do Sth
He doesn’t get up late any more <> He used to get up late.

3. §,+V,;+ sothat + S,+V; < S+ V toinfinitive

main clause subordinate clause
They went early so that they could get good seats.



They went early to get good seats.
4. S + Past continuous + and + S + simple past
< 8 + simple past + when + S + past continuous
She was sleeping and the fire started.
The fire started when she was sleeping.
\/ 5. S +be+of+adj+noun & S + be + adjective
The problem is of great importance <> the problem is very important.

II. PRACTICE
Choose the best sentence that has the same meaning as the given one:
1. Mark is too young to see the horror film.
K. Mark isn’t old enough to see the horror film.
B. Mark is old enough to see the horror film.
C. Mark is very young to see the horror film.
D. Mark is too young not to see the horror film.

2. 1don’t listen to the radio any more.
A. T used the radio to listen to.
vB. I used to listen to the radio.
C. Ididn’t listen to the radio.
D. Idon’t want to listen to the radio any more.

3. He climbed up the tree so that he could pick some fruits.
A. He picked some fruits by planting the tree.
B. He could pick some fruits because of the tree climbing.
VC. He climbed up the tree to pick some fruits.
D. He climbed up the tree for picking some fruits.

4. She was reading a book and the man came in.
A. The man came in and she was reading a book.
B. She was reading a book by inviting the man come in.
C. She was reading a book because the man came in.
\/D. The man came in when she was reading a book.

5. The painting is of real value.
| A. The painting is valuable.
B. The painting has value.
C. The painting belongs to the value.
D. The value makes the painting.



PATTERN 3

L TRANSFORMATI(/)N PATTERNS
1. S+ prefer + Sth + to +sth”
> S + would rather + do + sth + than + do + sth |
He prefers staying at home to going out. v
He would rather stay at home than go out.
2. S+V +and +it + be + adjective & It + be + adj + if-clause
V' They’re thinking about taking a trip to the Soviet Union and it would
the marvellous. ;
It would be marvellous @f we were able to take a trip to the Soviet
Union. ' :
3. S+V+0 S +be + noun + that + adj clause
Brazil produces the most coffee.
/ Brazil is the country that produces the most coffee.
M 4. S+V+andthen+S+V® S +V,+when+S,+V,
It got dark and then we went home.
We went home when it got dark.
L, 5 S+ l{now + wh-word + clause & S + know + wh-word + to inf.
I don’t know how I should spend this sum of money.
I'don’t know how to spend this sum of money.
. II. PRACTICE
Choose the best sentence that has the same meaning as the given one.
1. He prefers smoking to drinking.
A. He prefers smoke to drinking.
B. He prefers to drifik to smoking. .,

C. He’d rather to smoke than to drink.
éﬂr)e’d rather smoke than drink.
2. T’m thinking about goihg abroad to study and it would be lucky.
A. It would be lucky me to go abroad and study.
B. It would be lucky if I am able to go abfoad to study.
(C. It would be lucky if I were able to go abroad to study.
D. It be lucky if I am able to go abroad to study.

3. Russians drink the most milk.
A. Russiz s are the people which drink the most milk.



